1. BRGLAI & ER 2L

20164E

5% i 2{K
[ f%E - HEE 48 10 58
=3 42 3 45
=] 151 63 214
N~ 114 75 189
B fi 13 5 18
fEZ-REE 23 14 37
REE Mgk 29 21 50
MZEE 24 7 31
fifi 183 85 268
5 EER 2 2 4
K& 39 40 79
#LE 1 173 174
F=EEER - 75 75
F = RER - 24 24
P& - 20 20
B3R 101 - 101
fE it 50 11 61
B PR % 34 14 48
i FeR % 17 21 38
B AR AR 4 26 30
EYNE 38 29 67
LR ERE 7 7 14
=Nk 11 8 19
fth oD M i% 13 8 21
ZDith 34 17 51
=1 978 758 1,736

XABE. BEEERDO S, MR EREUBEZEALH.




ERSL A B SR ST 57
=155
20164

300

250

200
150
100
{111
IIIIIIIII.IIIII-;
.

o

o

Al E OB El 575 E B I Mz H Dﬂ EI HJF % ‘%
3 % _E. Ti Bt 0) R & g8 K E
oy CERPETELTRE # ’ri 4
B - EE] et B 7&
8 25 S ﬁ)’ﬁ
e 3
m B mkit

ir

(BE)HRERNDNAZERELRL R R

20164F
2500
2000
1500
1000
500 III
i Illllllllllll-iﬂé
chﬂﬂi;Lﬁ‘ﬁBZH% H?EF' B B 2 B
OB § ga fi fE o 3 F =
AR g B R ﬂﬂ %% Hh Hi ﬁ& ﬁﬂ & "
/o &R a5 = & )
/\ 22 B %ﬁ
fiE &

B mktk



2. BRI B B E A

20164F

5% g 2K
1% - HEE 2.8% 0.6% 3.3%
=3 2.4% 0.2% 2.6%
=] 8.7% 3.6% 12.3%
N~ 6.6% 4.3% 10.9%
FF fi 0.7% 0.3% 1.0%
fEE-fEE 1.3% 0.8% 2.1%
e Mgk 1.7% 1.2% 2.9%
MZEE 1.4% 0.4% 1.8%
fii 10.5% 4.9% 15.4%
HEER 0.1% 0.1% 0.2%
K& 2.2% 2.3% 4.6%
LB 0.1% 10.0% 10.0%
F=EEER - 4.3% 4.3%
F={KER - 1.4% 1.4%
D& - 1.2% 1.2%
BILAR 5.8% - 5.8%
Rt 2.9% 0.6% 3.5%
=X PR 1% 2.0% 0.8% 2.8%
i e 1.0% 1.2% 2.2%
B R AR 0.2% 1.5% 1.7%
=) NE 2.2% 1.7% 3.9%
Z M EHE 0.4% 0.4% 0.8%
=Nk 0.6% 0.5% 1.1%
fth o 1 i 0.7% 0.5% 1.2%
Z D1tk 2.0% 1.0% 2.9%
HEt 56.3% 43.7% 100.0%
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